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Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
censists-of 5 Units, Answer any ong full-question frem each. unit. Each questxon carrigs -

_,10 marks and may haVe a5 b cas, sub ques‘ﬂons -----

PART - A
(25 Marks)

Define input offset voltage. [2]
Lxst features of 741 op—amp

Aist: the apphcatron of 565 PLL
e) Listdifferent ADC and DACs.

f)  List specifications of DAC.

g)  Which of the parameters decide the fan out and how?

h)  Explain noise margin and propagation delay with respect to CMOS logic.

1) What is race around condmon‘7 How is 1t av01ded‘7

(50 Marks)
2. Draw the circuit diagram of a two input non-inverting type summing amplifier and
dCI‘lVC the expressmn for the output voltage. [10]
S AT . 4 OR~, AT
-3. :Explam the workmg of mstrumentatmn amphf ier thh suntable dlagram. L [1 011

4. Draw the block dlagram of 565 PLL and explain about each block. Make circuit

connectxons to track the input signal and explain its operation. [10]
OR
5. Desxgn a w1de band pass filter with f;=500 Hz and fy; = 2KHz, and a pass band again

termine the vajue of Q for the filter. ...... L1 —

=.5 for.both sections of filter. Also_

hd.de-merits.
[10]

iseuss its me;

/Which.is the faste AD-C%EXPI&fH 'e"opé;%ation d

OR
7. With a neat diagram explain the working principle of R-2R ladder type DAC. [10]




;;'f’jes%glg'_é:ignodulgil'Z‘-.{pr@ countg'?“ﬁ”s;jx%g 74x74. /

With neat circuit diagram explain the working of a 4-bit odd parity generator. [10]

OR
D'esign_.ml“6><l multxlplexg.xj_.psing 4ax1 mulft_jg]exer. " (rop
[N

How many address and data lines are required to access all the locations of dynamic

RAM cell arrays specified below? [10]
a)4M x 4 b) IM x 1 c)IM x4 d)4M x 1




